
SAP ABAP table RCJ_PS_ORDER {PPB: Field Selection for Order Header}

RCJ_PS_ORDER

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

EQUNR [CHAR (18)]

BAUTL [CHAR (18)]

ILOAN [CHAR (12)]

ANLZU [CHAR (1)]

IWERK [CHAR (4)]

INGPR [CHAR (3)]

APGRP [CHAR (3)]

GEWRK [NUMC (8)]

KUNUM [CHAR (10)]

GAUEH [UNIT (3)]

WARPL [CHAR (12)]

LAUFN [CHAR (12)]

REVNR [CHAR (8)]

ILART [CHAR (3)]

QMNUM [CHAR (12)]

VAWRK [CHAR (4)]

PLVAR [CHAR (2)]

TPLNR [CHAR (30)]

ABCKZ [CHAR (1)]

SWERK [CHAR (4)]

STORT [CHAR (10)]

BEBER [CHAR (3)]

PPSID [NUMC (8)]

PROID [NUMC (8)]

DAUFN [CHAR (12)]

KOSTL [CHAR (10)]

ANLNR [CHAR (12)]

ANLUN [CHAR (4)]

IAUFNR [CHAR (12)]

IKOKRS [CHAR (4)]

IBUKRS [CHAR (4)]

IGSBER [CHAR (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

 RCJ_PS_ORDER-ANLUN = ANLA-ANLN2 
0..N

0..N

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 RCJ_PS_ORDER-ANLNR = ANLH-ANLN1 

0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 RCJ_PS_ORDER-DAUFN = AUFK-AUFNR 

0..N

0..N

 RCJ_PS_ORDER-IAUFNR = AUFK-AUFNR 0..N

0..N

 RCJ_PS_ORDER-LAUFN = AUFK-AUFNR 

0..N

0..N

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 RCJ_PS_ORDER-GEWRK = CRID-OBJID 0..N

0..N

 RCJ_PS_ORDER-PPSID = CRID-OBJID 
0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 RCJ_PS_ORDER-KOSTL = CSKS-KOSTL 
0..N

0..N

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 RCJ_PS_ORDER-EQUNR = EQUI-EQUNR 
0..N

0..N

IFLOT

MANDT [CLNT (3)]

TPLNR [CHAR (30)]

 RCJ_PS_ORDER-TPLNR = IFLOT-TPLNR 

0..N

0..N

ILOA

MANDT [CLNT (3)]

ILOAN [CHAR (12)]

 RCJ_PS_ORDER-ILOAN = ILOA-ILOAN 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 RCJ_PS_ORDER-KUNUM = KNA1-KUNNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 RCJ_PS_ORDER-BAUTL = MARA-MATNR 
0..N

0..N

MPLA

MANDT [CLNT (3)]

WARPL [CHAR (12)]

 RCJ_PS_ORDER-WARPL = MPLA-WARPL 
0..N

0..N

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 RCJ_PS_ORDER-PROID = PRPS-PSPNR 
0..N

0..N

QMEL

MANDT [CLNT (3)]

QMNUM [CHAR (12)]

 RCJ_PS_ORDER-QMNUM = QMEL-QMNUM 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 RCJ_PS_ORDER-IBUKRS = T001-BUKRS 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 RCJ_PS_ORDER-SWERK = T001W-WERKS 
0..N

0..N  RCJ_PS_ORDER-VAWRK = T001W-WERKS 0..N

0..N
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RCJ_PS_ORDER-GAUEH = T006-MSEHI 

0..N

0..N

T024A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

FEVOR [CHAR (3)]

 RCJ_PS_ORDER-APGRP = T024A-FEVOR 

0..N

0..N

T024I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

INGRP [CHAR (3)]

 RCJ_PS_ORDER-INGPR = T024I-INGRP 

0..N

0..N

T352R

MANDT [CLNT (3)]

IWERK [CHAR (4)]

REVNR [CHAR (8)]

 RCJ_PS_ORDER-REVNR = T352R-REVNR 

0..N

0..N

T353I

MANDT [CLNT (3)]

ILART [CHAR (3)]

 RCJ_PS_ORDER-ILART = T353I-ILART 

0..N

0..N

T356

MANDT [CLNT (3)]

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

 RCJ_PS_ORDER-PRIOK = T356-PRIOK 

0..N

0..N

T356A

MANDT [CLNT (3)]

ARTPR [CHAR (2)]

 RCJ_PS_ORDER-ARTPR = T356A-ARTPR 

0..N

0..N

T357

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BEBER [CHAR (3)]

 RCJ_PS_ORDER-BEBER = T357-BEBER 

0..N

0..N

T357M

MANDT [CLNT (3)]

ANLZU [CHAR (1)]

 RCJ_PS_ORDER-ANLZU = T357M-ANLZU 

0..N

0..N

T370C

MANDT [CLNT (3)]

ABCKZ [CHAR (1)]

 RCJ_PS_ORDER-ABCKZ = T370C-ABCKZ 

0..N

0..N

T399I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

 RCJ_PS_ORDER-IWERK = T399I-IWERK 

0..N

0..N

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 RCJ_PS_ORDER-STORT = T499S-STAND 

0..N

0..N

T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 RCJ_PS_ORDER-PLVAR = T778P-PLVAR 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 RCJ_PS_ORDER-IGSBER = TGSB-GSBER 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 RCJ_PS_ORDER-IKOKRS = TKA01-KOKRS 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 RCJ_PS_ORDER-SPART = TSPA-SPART 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 RCJ_PS_ORDER-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 RCJ_PS_ORDER-VTWEG = TVTW-VTWEG 

0..N

0..N


